R(27).3 (mod 19)

blocks | defect matrix
G 1 1 19 x 18
2 0 7031 = X2,0, ©2,0
3 B 0 7032 = Xx2,1,¥2,1
4=23 0 7033 = x2,2, ¥2,2
5 0 7411 = X3,0, 3,0
6 0 7413 = x3,1,¥31
7 B 0 7415 = x3,2, 3,2
8=5 0 7414 = X4,0, P40
9="7 0 7415 = x4,1, 4,1
10=6 0 7416 = Xa,2, P42
11 0 414961 = X9+, Yo+
12 0 414962 = X124, P12+
13 0 182781 = X15,0, 15,0
14 0 182785 = x15,1, Y151
15=14 0 182783 = x15,2, 15,2
16 0 948341 = X164+, P16+
17 0 189811 = X19,0, 19,0
187 0 189812 = Xx19,1, P19,1
19=18 0 189813 = Xx19,2, 19,2
20 0 990521 = X214+, Y21+
21 0 5905629 = X244, P24+
22 0 990523 = X274, P27+
23 0 990524 = X30+, P30+




Block 1: | v10 w11 Y12 $50 ¥51 P52 P60 P61 P62 P00 P11 P12 P80
Ii =x10 1 .
12 = X1,1 . 1 .
13 = x1,2 1 .
14431 = X5,0 1 .
].4432 = X5,1 1 .
14433 = X5,2 1 .
14434 = X6,0 1 .
14435 = x6,1 1 .
14436 = Xx6,2 1 .
21841 = X7,0 1 .
21842 = X171 1 .
21843 = X772 1 .
21844 = X8,0 1
21845 = xs1
21846 = X8,2 .
196831 = X20,0 1 .
196832 = X20,1 . 1 .
196833 = X20,2 1 . . . . .
808081 = X33+ 1 1 1 1 1 1 1 1 1 1
(Block 1:) | ¢s1 ¥82 ©200 %201 $20,2
11 =x10 Pr0 = L
1o =x11 pr1o= Lo
13 =x1,2 Fr2 = s
14431 = X5,0 ¥50 = 14431
14432 = X5,1 P51 = 14432
14433 = X5,2 P52 = 14433
14434 = X6.0 poo = 14434
14435 = X1 pe1 = 14435
14436 = X6,2 vo2 = 1443
21841 = y7.0 pro = 2184
21845 = X7 pr1 = 2184
21845 = 7.2 pro = 21843
21844 = X8,0 . . . . . $s0 = 21844
21845 = ys1 | 1 . . . . ps1 = 21845
21846 = X8,2 1 . . . P82 = 21846
196831 = Y20.0 1 . . P00 = 19682,
196835 = X20.1 1 . P20 = 19682,
196833 = X20,2 . 1 202 = 196823
808081 = X33+ 1 1 1 1 1




